Appendix H4
Water Quality Binder for 2014

Existing Conditions Plots

(Comparing model predictions with observed data and

evaluating existing conditions)
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Layer 1 R=nan RMSE=1.62 MAE=1.62 Bias=1.62 N=1
Layer 10 R=nan RMSE=0.9 MAE=0.9 Bias=0.9 N=1
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Layer 1 R=nan RMSE=1.15 MAE=1.15 Bias=-1.15 N=1
Layer 10 R=nan RMSE=1.02 MAE=1.02 Bias=-1.02 N=1
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Layer 1 R=0.95 RMSE=0.65 MAE=0.52 Bias=0.32 N=11
Layer 10 R=0.89 RMSE=0.8 MAE=0.58 Bias=0.05 N=11
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.43 MAE=0.41 Bias=-0.13 N=2
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
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Layer 1 R=1.0 RMSE=3.6 MAE=3.59 Bias=-3.59 N=2
Layer 10 R=nan RMSE=0.02 MAE=0.02 Bias=-0.02 N=1
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Layer 1 R=nan RMSE=1.02 MAE=1.02 Bias=1.02 N=1
Layer 10 R=nan RMSE=0.95 MAE=0.95 Bias=0.95 N=1
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Layer 1 R=0.93 RMSE=1.03 MAE=0.86 Bias=0.66 N=11
Layer 10 R=0.88 RMSE=0.73 MAE=0.54 Bias=0.14 N=11
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.45 MAE=0.45 Bias=-0.45 N=1
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Layer 1 R=nan RMSE=1.53 MAE=1.53 Bias=1.53 N=1
Layer 10 R=nan RMSE=0.91 MAE=0.91 Bias=0.91 N=1
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Layer 1 R=0.85 RMSE=0.93 MAE=0.61 Bias=-0.01 N=11
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Layer 10 R=1.0 RMSE=1.24 MAE=1.2 Bias=-1.2 N=2
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Layer 1 R=-1.0 RMSE=2.85 MAE=2.47 Bias=-1.43 N=2
Layer 10 R=1.0 RMSE=0.66 MAE=0.58 Bias=0.3 N=2
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.37 MAE=0.37 Bias=-0.37 N=1

—w——-‘m"""’

GRG002
Layer 1 R=0.91 RMSE=1.15 MAE=0.99 Bias=0.18 N=9

Layer 10 R=0.99 RMSE=0.52 MAE=0.46 Bias=-0.038 N=9
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
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Layer 1 R=nan RMSE=0.92 MAE=0.92 Bias=-0.92 N=1
Layer 10 R=0.23 RMSE=0.94 MAE=0.92 Bias=-0.92 N=3
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
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Layer 10 R=-0.39 RMSE=1.02 MAE=0.99 Bias=-0.99 N=3
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Layer 1 R=nan RMSE=0.35 MAE=0.35 Bias=-0.35 N=1

PR5
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Layer 10 R=0.96 RMSE=0.88 MAE=0.65 Bias=0.4

Mar

Apr

May

KSBPO01
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Layer 1 R=0.98 RMSE=0.52 MAE=0.36 Bias=-0.18 N=11

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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Layer 1 R=-1.0 RMSE=0.9 MAE=0.87 Bias=-0.23
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Layer 10 R=0.94 RMSE=0.47 MAE=0.39 Bias=0.17 N=10
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Layer 1 R=nan RMSE=3.89 MAE=3.89 Bias=-3.89 N=1
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.81 MAE=0.76 Bias=0.28 N=2
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
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Layer 1 R=0.95 RMSE=0.68 MAE=0.6 Bias=-0.21 N=19
Layer 10 R=0.99 RMSE=0.57 MAE=0.48 Bias=-0.18 N=18
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Layer 1 R=0.91 RMSE=1.19 MAE=1.02 Bias=-0.59 N=18
Layer 10 R=0.98 RMSE=0.67 MAE=0.6 Bias=-0.19 N=17

PR14

Layer 1 R=1.0 RMSE=1.71 MAE=1.53 Bias=-1.53
Layer 10 R=1.0 RMSE=0.88 MAE=0.63 Bias=0.63 N=2
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.98 RMSE=1.09 MAE=0.89 Bias=-0.89 N=11
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Layer 10 R=1.0 RMSE=0.42 MAE=0.35 Bias=-0.35 N=2
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Layer 1 R=nan RMSE=1.06 MAE=1.06 Bias=-1.06 N=1 27 Layer 1 R=0.94 RMSE=0.82 MAE=0.58 Bias=-0.34 N=19 27 Layer 1 R=1.0 RMSE=0.98 MAE=0.76 Bias=-0.62 N=2 27 Layer 1 R=nan RMSE=0.97 MAE=0.97 Bias=0.97 N=1
Layer 10 R=1.0 RMSE=1.02 MAE=0.91 Bias=0.91 N=2 21 Layer 10 R=0.99 RMSE=0.54 MAE=0.47 Bias=-0.12 N=19 21 Layer 10 R=1.0 RMSE=0.4 MAE=0.34 Bias=-0.34 N=2 21 Layer 10 R=0.63 RMSE=1.17 MAE=1.01 Bias=0.76 N=3
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Layer 1 R=1.0 RMSE=0.73 MAE=0.63 Bias=-0.63 N=2 27 Layer 1 R=0.94 RMSE=1.01 MAE=0.85 Bias=-0.58 N=11 27 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=0.97 RMSE=1.55 MAE=1.3 Bias=-1.23 N=8
Layer 10 R=1.0 RMSE=0.32 MAE=0.25 Bias=-0.25 N=3 21 Layer 10 R=0.98 RMSE=0.67 MAE=0.62 Bias=0.27 N=11 21 Layer 10 R=1.0 RMSE=1.27 MAE=1.09 Bias=1.09 N=2 21 Layer 10 R=0.86 RMSE=0.72 I\gAE=O.49 Bias=0.49 N=13
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=0.97 RMSE=0.7 MAE=0.55 Bias=-0.33 N=11 27 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=nan RMSE=1.01 MAE=1.01 Bias=-1.01 N=1
Layer 10 R=0.4 RMSE=0.88 MAE=0.6 Bias=0.49 N=10 21 Layer 10 R=0.99 RMSE=0.84 MAE=0.75 Bias=-0.3 N=11 21 Layer 10 R=1.0 RMSE=1.09 MAE=1.09 Bias=-1.09 N=2 21 Layer 10 R=1.0 RMSE=0.84 MAE=0.84 Bias=-0.84 N=2
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Layer 1 R=0.99 RMSE=1.05 MAE=0.87 Bias=-0.8 N=10 27 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=0.99 RMSE=0.8 MAE=0.7 Bias=-0.7 N=11
Layer 10 R=0.99 RMSE=0.65 MAE=0.56 Bias=-0.15 N=11 21 Layer 10 R=nan RMSE=1.17 MAE=1.17 Bias=-1.17 N=1 21 Layer 10 R=1.0 RMSE=1.17 MAE=1.17 Bias=-1.17 N=2 21 Layer 10 R=1.0 RMSE=0.65 MAE=0.57 Bias=-0.26 N=12
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=0.98 RMSE=0.95 MAE=0.82 Bias=-0.78 N=9 27 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 27 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 21 Layer 10 R=0.99 RMSE=1.09 MAE=0.87 Bias=-0.8 N=11 21 Layer 10 R=nan RMSE=0.88 MAE=0.88 Bias=-0.88 N=1 21 Layer 10 R=0.98 RMSE=0.84 MAE=0.68 Bias=-0.61 N=11
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PR122 PR123 PR128 PR132
Layer 1 R=nan RMSE=3.01 MAE=3.01 Bias=-3.01 N=1 Layer 1 R=-1.0 RMSE=1.57 MAE=1.56 Bias=-1.56 N=2 Layer 1 R=nan RMSE=3.1 MAE=3.1 Bias=-3.1 N=1 Layer 1 R=-1.0 RMSE=2.36 MAE=1.69 Bias=-1.65 N=2

_ 45 _ 45 _ 45 _
Layer 10 R=nan RMSE=0.33 MAE=0.33 Bias=-0.33 N=1 Layer 10 R=nan RMSE=0.32 MAE=0.32 Bias=-0.32 N=1 Layer 10 R=nan RMSE=0.47 MAE=0.47 Bias=-0.47 N=1 Layer 10 R=1.0 RMSE=0.48 MAE=0.47 Bias=-0.47 N=2
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Layer 1 R=nan RMSE=1.17 MAE=1.17 Bias=-1.17 N=1 45 Layer 1 R=nan RMSE=4.19 MAE=4.19 Bias=-4.19 N=1 45 Layer 1 R=0.41 RMSE=1.57 MAE=1.23 Bias=-1.2 N=11 45 Layer 1 R=0.96 RMSE=1.49 MAE=1.36 Bias=-1.36 N=4
Layer 10 R=nan RMSE=0.07 MAE=0.07 Bias=-0.07 N=1 Layer 10 R=nan RMSE=0.96 MAE=0.96 Bias=-0.96 N=1 Layer 10 R=0.61 RMSE=0.76 MAE=0.64 Bias=-0.59 N=11 Layer 10 R=1.0 RMSE=0.36 MAE=0.36 Bias=-0.36 N=2
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Layer 1 R=0.89 RMSE=2.07 MAE=1.71 Bias=-1.71 N=11 45 Layer 1 R=0.72 RMSE=2.79 MAE=2.37 Bias=-2.37 N=11 45 Layer 1 R=nan RMSE=0.96 MAE=0.96 Bias=-0.96 N=1 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0

Layer 10 R=0.46 RMSE=0.61 MAE=0.47 Bias=-0.39 N=11 Layer 10 R=0.54 RMSE=0.66 MAE=0.55 Bias=-0.44 N=11 Layer 10 R=1.0 RMSE=0.11 MAE=0.11 Bias=-0.11 N=2 Layer 10 R=nan RMSE=0.18 MAE=0.18 Bias=-0.18 N=1
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PR26 PR20 RSR837 GRG002
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=0.27 RMSE=4.77 MAE=3.83 Bias=-3.83 N=9 45 Layer 1 R=0.82 RMSE=5.37 MAE=5.0 Bias=-5.0 N=9
Layer 10 R=1.0 RMSE=0.75 MAE=0.72 Bias=-0.72 N=2 Layer 10 R=nan RMSE=0.09 MAE=0.09 Bias=-0.09 N=1 Layer 10 R=-0.38 RMSE=0.47 MAE=0.36 Bias=-0.36 N=9 Layer 10 R=0.45 RMSE=0.3 MAE=0.24 Bias=-0.02 N=10
o 35 35 35
15 15 15
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PTHOO05 PR19 FIDO01 BLLO09
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.62 RMSE=0.36 MAE=0.25 Bias=-0.21 N=10 Layer 10 R=1.0 RMSE=0.2 MAE=0.19 Bias=-0.19 N=2 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
35 35 35
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ADMO001
Layer 1 R=0.58 RMSE=2.82 MAE=2.24 Bias=-2.05 N=8
Layer 10 R=0.9 RMSE=0.23 MAE=0.18 Bias=0.1 N=10
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SKGO003

Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.7 RMSE=0.9 MAE=0.72 Bias=-0.47 N=8

PR27
Layer 1 R=0.86 RMSE=3.78 MAE=3.51 Bias=-3.51 N=3
Layer 10 R=0.99 RMSE=0.29 MAE=0.25 Bias=-0.25 N=3

PR17
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.15 MAE=0.13 Bias=-0.13 N=2
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PR16
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.24 MAE=0.22 Bias=-0.22 N=2
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PR7
Layer 1 R=nan RMSE=0.49 MAE=0.49 Bias=-0.49 N=1
Layer 10 R=0.92 RMSE=0.44 MAE=0.42 Bias=-0.21 N=3
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PR9
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.32 MAE=0.28 Bias=-0.28 N=2
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PR10
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.18 MAE=0.18 Bias=-0.18 N=1
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PR28
Layer 1 R=0.93 RMSE=0.99 MAE=0.82 Bias=-0.82 N=4
Layer 10 R=0.97 RMSE=0.47 MAE=0.45 Bias=-0.45 N=4
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PR1
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
5

Layer 10 R=1.0 RMSE=0.19 MAE=0.15 Bias=-0.1 N=2
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PR8
Layer 1 R=nan RMSE=0.32 MAE=0.32 Bias=-0.32 N=1
Layer 10 R=1.0 RMSE=0.32 MAE=0.27 Bias=-0.23 N=3
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PR5
Layer 1 R=1.0 RMSE=1.02 MAE=0.81 Bias=-0.62 N=2
Layer 10 R=0.9 RMSE=0.34 MAE=0.33 Bias=-0.07 N=3
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JSURO1
Layer 1 R=0.84 RMSE=2.71 MAE=2.51 Bias=-2.51 N=18
Layer 10 R=0.83 RMSE=0.44 MAE=0.38 Bias=-0.38 N=19
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CK200P
Layer 1 R=0.79 RMSE=3.81 MAE=3.27 Bias=-3.27 N=18

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0

SAR003
Layer 1 R=0.87 RMSE=2.53 MAE=1.85 Bias=1.71 N=13
Layer 10 R=0.5 RMSE=0.53 MAE=0.38 Bias=-0.33 N=14
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ADMO003
Layer 1 R=0.93 RMSE=1.65 MAE=1.35 Bias=-1.32 N=10
Layer 10 R=0.53 RMSE=0.47 MAE=0.37 Bias=-0.37 N=10
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PR4
Layer 1 R=nan RMSE=1.94 MAE=1.94 Bias=1.94 N=1
Layer 10 R=0.98 RMSE=0.41 MAE=0.39 Bias=-0.2 N=3
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KSBPO01
Layer 1 R=0.82 RMSE=2.56 MAE=2.35 Bias=-2.35 N=18
Layer 10 R=0.83 RMSE=0.5 MAE=0.44 Bias=-0.44 N=17
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PSS019
Layer 1 R=0.77 RMSE=3.55 MAE=2.79 Bias=1.52 N=9

Layer 10 R=0.32 RMSE=0.48 MAE=0.38 Bias=-0.16 N=9

KSSK02
Layer 1 R=0.75 RMSE=2.73 MAE=2.4 Bias=-2.4 N=17
Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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PSB003
Layer 1 R=0.64 RMSE=4.23 MAE=3.55 Bias=-3.55 N=11

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0

PR500c
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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PR29
Layer 1 R=1.0 RMSE=1.31 MAE=1.31 Bias=-1.31 N=2
Layer 10 R=1.0 RMSE=0.38 MAE=0.38 Bias=-0.38 N=2
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PR30
Layer 1 R=1.0 RMSE=1.69 MAE=1.65 Bias=-1.65 N=2
Layer 10 R=1.0 RMSE=0.45 MAE=0.44 Bias=-0.44 N=2

wm

PR13
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.24 MAE=0.21 Bias=-0.21 N=2
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HCBO010
Layer 1 R=0.77 RMSE=1.68 MAE=1.35 Bias=1.02 N=10
Layer 10 R=0.33 RMSE=0.64 MAE=0.54 Bias=-0.54 N=11
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LSKQO06
Layer 1 R=0.71 RMSE=2.28 MAE=1.91 Bias=-1.91 N=19

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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ELBO15
Layer 1 R=0.74 RMSE=8.22 MAE=7.28 Bias=-7.28 N=12
Layer 10 R=0.73 RMSE=0.43 MAE=0.34 Bias=-0.33 N=8

HNFDO1
Layer 1 R=nan RMSE=13.93 MAE=13.93 Bias=-13.93 N=1
Layer 10 R=0.64 RMSE=0.85 MAE=0.7 Bias=-0.7 N=9

HCBO003
Layer 1 R=0.8 RMSE=2.31 MAE=1.47 Bias=1.08 N=10
Layer 10 R=0.27 RMSE=0.63 MAE=0.51 Bias=-0.5 N=11
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PR15
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.27 MAE=0.25 Bias=-0.25 N=2
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PR500b
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.44 MAE=0.44 Bias=-0.44 N=1

LSNTO1
Layer 1 R=0.68 RMSE=2.08 MAE=1.74 Bias=-1.74 N=18
Layer 10 R=0.85 RMSE=0.52 MAE=0.47 Bias=-0.47 N=18
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MSJNO2
Layer 1 R=0.8 RMSE=1.67 MAE=1.49 Bias=-1.49 N=19
Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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EAPOO1
Layer 1 R=0.85 RMSE=2.2 MAE=2.08 Bias=-2.08 N=10
Layer 10 R=0.7 RMSE=0.66 MAE=0.58 Bias=-0.58 N=10
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LSEPO1
Layer 1 R=0.87 RMSE=2.22 MAE=1.99 Bias=-1.99 N=19
Layer 10 R=0.81 RMSE=0.49 MAE=0.42 Bias=-0.42 N=18
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LTEDO4
Layer 1 R=0.6 RMSE=7.57 MAE=6.51 Bias=-6.51 N=18
Layer 10 R=0.74 RMSE=0.47 MAE=0.35 Bias=-0.35 N=17

PR14

Layer 1 R=-1.0 RMSE=1.89 MAE=1.89 Bias=0.13 N=2
Layer 10 R=1.0 RMSE=0.3 MAE=0.26 Bias=-0.26 N=2
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SINO01
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.77 RMSE=0.91 MAE=0.76 Bias=-0.76 N=11
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Layer 1 R=1.0 RMSE=1.97 MAE=1.89 Bias=-1.89 N=2
Layer 10 R=1.0 RMSE=0.48 MAE=0.48 Bias=-0.48 N=2
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PR401 NSEX01 PR32 PR12
Layer 1 R=nan RMSE=1.2 MAE=1.2 Bias=1.2 N=1 Layer 1 R=0.88 RMSE=2.93 MAE=2.78 Bias=-2.78 N=19 Layer 1 R=1.0 RMSE=3.05 MAE=2.93 Bias=-2.93 N=2 Layer 1 R=nan RMSE=1.75 MAE=1.75 Bias=-1.75 N=1

_ 45 = 45 = 45 _
Layer 10 R=1.0 RMSE=0.23 MAE=0.19 Bias=-0.19 N=2 Layer 10 R=0.82 RMSE=0.52 MAE=0.46 Bias=-0.46 N=19 Layer 10 R=1.0 RMSE=0.48 MAE=0.48 Bias=-0.48 N=2 Layer 10 R=0.77 RMSE=0.33 MAE=0.3 Bias=-0.19 N=3
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PR33 CMBO003 PR11 HCBO004
Layer 1 R=1.0 RMSE=3.66 MAE=3.65 Bias=-3.65 N=2 45 Layer 1 R=0.24 RMSE=10.6 MAE=9.81 Bias=-9.81 N=11 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=0.69 RMSE=5.83 MAE=4.32 Bias=3.52 N=7
Layer 10 R=1.0 RMSE=0.49 MAE=0.49 Bias=-0.49 N=3 Layer 10 R=0.75 RMSE=0.53 MAE=0.46 Bias=-0.46 N=12 Layer 10 R=1.0 RMSE=0.34 MAE=0.3 Bias=-0.16 N=2 Layer 10 R=0.34 RMSE=0.46 MAE=0.33 Bias=-0.24 N=13
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HCBO007 GORO001 PR35 PR38b
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=0.89 RMSE=3.08 MAE=2.72 Bias=-2.72 N=10 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=0.28 MAE=0.28 Bias=-0.28 N=1
Layer 10 R=-0.07 RMSE=0.72 MAE=0.54 Bias=-0.4 N=9 Layer 10 R=0.79 RMSE=0.56 MAE=0.45 Bias=-0.45 N=12 Layer 10 R=1.0 RMSE=0.25 MAE=0.25 Bias=-0.25 N=2 Layer 10 R=1.0 RMSE=0.26 MAE=0.25 Bias=-0.25 N=2
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CRRO001 PR38a PR36b NSQO002
Layer 1 R=0.89 RMSE=1.02 MAE=0.92 Bias=-0.92 N=10 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=0.75 RMSE=1.07 MAE=0.87 Bias=-0.87 N=11
Layer 10 R=0.67 RMSE=0.57 MAE=0.43 Bias=-0.42 N=11 Layer 10 R=nan RMSE=0.24 MAE=0.24 Bias=-0.24 N=1 Layer 10 R=1.0 RMSE=0.28 MAE=0.28 Bias=-0.28 N=2 Layer 10 R=0.72 RMSE=0.78 MAE=0.68 Bias=-0.68 N=12
35 35 35
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PR37b DNAO0O1 PR37a BUDO005
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=0.83 RMSE=1.26 MAE=1.02 Bias=-1.02 N=9 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 45 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 10 R=0.79 RMSE=0.77 MAE=0.65 Bias=-0.65 N=11 Layer 10 R=nan RMSE=0.42 MAE=0.42 Bias=-0.42 N=1 Layer 10 R=0.9 RMSE=0.94 MAE=0.89 Bias=-0.89 N=15
35 35 35
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.84 RMSE=1.21 MAE=1.16 Bias=-1.16 N=10
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.85 RMSE=1.03 MAE=0.89 Bias=-0.89 N=13
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.95 RMSE=0.86 MAE=0.67 Bias=0.64 N=5
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PR122
Layer 1 R=nan RMSE=2.3 MAE=2.3 Bias=2.3 N=1
Layer 10 R=nan RMSE=0.01 MAE=0.01 Bias=0.01 N=1
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PR136d
Layer 1 R=nan RMSE=0.99 MAE=0.99 Bias=0.99 N=1
Layer 10 R=nan RMSE=0.88 MAE=0.88 Bias=-0.88 N=1

SJF001
Layer 1 R=0.14 RMSE=2.26 MAE=1.93 Bias=1.93 N=11
Layer 10 R=0.86 RMSE=1.3 MAE=1.05 Bias=-1.03 N=11

PR26
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.67 MAE=0.67 Bias=-0.67 N=2
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.9 RMSE=1.27 MAE=1.17 Bias=-1.17 N=19
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PR123
Layer 1 R=-1.0 RMSE=0.9 MAE=0.9 Bias=0.9 N=2
Layer 10 R=nan RMSE=0.01 MAE=0.01 Bias=-0.01 N=1
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PR136b
Layer 1 R=nan RMSE=2.36 MAE=2.36 Bias=2.36 N=1
Layer 10 R=nan RMSE=0.12 MAE=0.12 Bias=0.12 N=1
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SJF000
Layer 1 R=0.03 RMSE=2.59 MAE=2.27 Bias=2.27 N=11
Layer 10 R=0.89 RMSE=1.33 MAE=0.99 Bias=-0.99 N=11
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=1.4 MAE=1.4 Bias=-1.4 N=1
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=1.04 MAE=1.02 Bias=-1.02 N=2
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PR128
Layer 1 R=nan RMSE=3.25 MAE=3.25 Bias=3.25 N=1
Layer 10 R=nan RMSE=0.26 MAE=0.26 Bias=0.26 N=1
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SJF002
Layer 1 R=0.38 RMSE=2.27 MAE=1.88 Bias=1.88 N=11
Layer 10 R=0.9 RMSE=1.05 MAE=0.74 Bias=-0.72 N=11

PR21b
Layer 1 R=nan RMSE=1.49 MAE=1.49 Bias=1.49 N=1
Layer 10 R=1.0 RMSE=1.35 MAE=1.33 Bias=-1.33 N=2
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RSR837
Layer 1 R=0.25 RMSE=2.83 MAE=2.5 Bias=2.5 N=9
Layer 10 R=0.92 RMSE=1.59 MAE=1.52 Bias=-1.52 N=11
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.74 MAE=0.68 Bias=0.29 N=2
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Layer 1 R=-1.0 RMSE=2.05 MAE=1.58 Bias=1.58 N=2
Layer 10 R=1.0 RMSE=0.11 MAE=0.09 Bias=0.07 N=2
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PR22a
Layer 1 R=0.22 RMSE=2.77 MAE=2.48 Bias=2.48 N=4
Layer 10 R=1.0 RMSE=0.98 MAE=0.98 Bias=-0.98 N=2
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=1.19 MAE=1.19 Bias=-1.19 N=1
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GRG002
Layer 1 R=0.29 RMSE=1.58 MAE=1.41 Bias=1.29 N=9

Layer 10 R=0.88 RMSE=1.52 MAE=1.38 Bias=-1.38 N=16
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
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30 Layer 1 R=0.7 RMSE=1.99 MAE=169 Bias=0.65 N=8 30 Layer 1 R=nan RMSE=146 MAE=146 Bias=146 N=1 30 Layer 1 R=nan RMSE=1.26 MAE=126 Bias=126 =1 30 Layer 1 R=0.83 RMSE=1.09 MAE=0.95 Bias=0.07 N=10
gg Layer 10 R=0.94 RMSE=148 MAE=142 Bias=-142 N=18 ;g Layer 10 R=0.19 RMSE=0.97 MAE=0.7 Bias=-0.7 N=3 ;g Layer 10 R=0.57 RMSE=0.82 MAE=0.63 Bias=-0.63 =3 ;g Layer 10 R=0.86 RMSE=0.82 MAE=0.74 Bias=-0.62 =20
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SKGO003 PR9 PR5 PR4
30 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 30 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 30 Layer 1 R=nan RMSE=1.88 MAE=1.88 Bias=1.88 N=1 30 Layer 1 R=nan RMSE=0.18 MAE=0.18 Bias=0.18 N=1
gg Layer 10 R=0.8 RMSE=1.25 MAE=0.86 Bias=0.63 =16 ;g Layer 10 R=1.0 RMSE=1.02 MAE=093 Bias=-0.93 N=2 ;g Layer 10 R=0.97 RMSE=0.21 MAE=0.15 Bias=-0.14 =3 ;g Layer 10 R=0.74 RMSE=0.97 MAE=0.78 Bias=0.68 N=3
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PR27 PR10 JSURO1 KSBPO01
30 Layer 1 R=1.0 RMSE=129 MAE=1.14 Bias=1.14 N=3 30 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 30 Layer 1 R=0.73 RMSE=1.39 MAE=1.23 Bias=0.63 N=18 30 Layer 1 R=0.71 RMSE=1.36 MAE=1.15 Bias=0.73 N=18
gg Layer 10R=1.0 RMSE=0.61 MAE=0.57 Bias=-0.57 N=3 ;g Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 ;g Layer 10 R=0.87 RMSE=0.46 MAE=0.37 Bias=-0.03 N=19 ;g Layer 10 R=0.85 RMSE=0.52 MAE=0.39 Bias=0.01 N=34
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PR17 PR28 CK200P PSS019
30 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 30 Layer 1R=1.0 RMSE=1.17 MAE=1.13 Bias=0.58 N=3 30 Layer 1 R=0.65 RMSE=1.85 MAE=166 Bias=1.03 N=18 30 Layer 1 R=0.4 RMSE=1.77 MAE=1.61 Bias=-1.51 N=9
;g Layer 10R=1.0 RMSE=0.37 MAE=0.27 Bias=-0.25 N=2 ;g Layer 10R=0.0 RMSE=0.53 MAE=051 Bias=-0.04 N=3 ;g Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 ;g Layer 10 R=0.81 RMSE=0.86 MAE=0.59 Bias=0.5 N=17
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PR16 PR1 SARO003 KSSK02
30 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 30 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 30 Layer 1 R=0.43 RMSE=3.11 MAE=2.48 Bias=-2.16 N=13 30 Layer 1 R=0.7 RMSE=1.62 MAE=142 Bias=0.67 N=17
gg Layer 10R=1.0 RMSE=0.48 MAE=0.35 Bias=-0.32 N=2 ;g Layer 10R=1.0 RMSE=0.01 MAE=0.01 Bias=-0.01 N=2 ;g Layer 10 R=0.81 RMSE=0.87 MAE=0.65 Bias=0.52 N=22 ;g Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
|
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PSB003
Layer 1 R=0.78 RMSE=1.52 MAE=1.22 Bias=-0.24 N=10

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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PR500c
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0

e s T

PR29
Layer 1 R=-1.0 RMSE=1.78 MAE=1.64 Bias=1.64 N=2
Layer 10 R=1.0 RMSE=0.39 MAE=0.39 Bias=-0.39 N=2
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PR30
Layer 1 R=-1.0 RMSE=2.11 MAE=1.86 Bias=1.86 N=2
Layer 10 R=1.0 RMSE=0.49 MAE=0.48 Bias=-0.48 N=2

Y it o ——

W

PR13
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=-1.0 RMSE=0.61 MAE=0.61 Bias=-0.02 N=2

O e WP W
By Wi

c o [ [ > c S [@)) Q B > O c
T © &8 2 ® 5 35 5 o o & @
S = < s 5 < » Z o -

30
26
22
18
14
10

30
26
22
18
14
10

30
26
22
18
14
10

30
26
22
18
14
10

30
26
22
18
14
10

6

2

HCBO010
Layer 1 R=0.73 RMSE=1.75 MAE=1.17 Bias=-1.05 N=10
Layer 10 R=0.86 RMSE=0.68 MAE=0.58 Bias=0.06 N=18

LSKQO06
Layer 1 R=0.72 RMSE=1.55 MAE=1.37 Bias=0.4 N=18
Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0

ELBO15
Layer 1 R=0.75 RMSE=1.74 MAE=1.56 Bias=0.51 N=10

HNFDO1
Layer 1 R=nan RMSE=1.65 MAE=1.65 Bias=1.65 N=1
Layer 10 R=0.81 RMSE=0.82 MAE=0.78 Bias=0.54 N=9
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HCBO003
Layer 1 R=0.51 RMSE=2.63 MAE=1.8 Bias=-1.78 N=10
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Layer 10 R=0.97 RMSE=0.53 MAE=0.47 Bias=-0.44 N=14

Layer 10 R=0.58 RMSE=1.35 MAE=1.05 Bias=-0.61 N=18
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PR15
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=-1.0 RMSE=0.53 MAE=0.52 Bias=0.08 N=2
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PR500b
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.42 MAE=0.42 Bias=-0.42 N=1
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LSNTO1
Layer 1 R=0.84 RMSE=1.39 MAE=1.24 Bias=1.05 N=17

MSJNO2
Layer 1 R=0.59 RMSE=1.57 MAE=1.32 Bias=0.31 N=18

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0

EAPO0O1
Layer 1 R=0.72 RMSE=1.67 MAE=1.42 Bias=0.03 N=10
Layer 10 R=0.97 RMSE=0.58 MAE=0.51 Bias=-0.5 N=16
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Layer 10 R=0.91 RMSE=0.42 MAE=0.33 Bias=-0.03 N=34
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LSEPO1
Layer 1 R=0.75 RMSE=1.45 MAE=1.29 Bias=0.94 N=18
Layer 10 R=0.94 RMSE=0.33 MAE=0.27 Bias=-0.08 N=17

LTEDO4
Layer 1 R=0.63 RMSE=1.91 MAE=1.7 Bias=1.56 N=18
Layer 10 R=0.94 RMSE=0.39 MAE=0.32 Bias=-0.05 N=17

PR14
Layer 1 R=-1.0 RMSE=1.8 MAE=1.8 Bias=-0.15 N=2

Layer 10 R=1.0 RMSE=0.57 MAE=0.57 Bias=0.08 N=2

wMMWM
—_—TTT T .

SINO01
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.32 RMSE=1.88 MAE=1.56 Bias=-1.15 N=12

PR31
Layer 1 R=nan RMSE=0.74 MAE=0.74 Bias=-0.74 N=1
Layer 10 R=1.0 RMSE=0.67 MAE=0.63 Bias=-0.63 N=2
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PR401
Layer 1 R=nan RMSE=1.98 MAE=1.98 Bias=-1.98 N=1
Layer 10 R=1.0 RMSE=0.43 MAE=0.42 Bias=0.09 N=2
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PR33
Layer 1 R=1.0 RMSE=1.38 MAE=1.37 Bias=1.37 N=2

Layer 10 R=1.0 RMSE=0.59 MAE=0.56 Bias=-0.56 N=3

HCBO007
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.9 RMSE=0.86 MAE=0.74 Bias=-0.3 N=14
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CRRO001
Layer 1 R=0.86 RMSE=1.98 MAE=1.53 Bias=-0.88 N=10
Layer 10 R=0.92 RMSE=0.93 MAE=0.85 Bias=-0.77 N=15

PR37b
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0

Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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NSEXO01
Layer 1 R=0.55 RMSE=2.0 MAE=1.67 Bias=-0.12 N=18
Layer 10 R=0.88 RMSE=0.52 MAE=0.4 Bias=-0.12 N=18

CMB003
Layer 1 R=0.47 RMSE=2.01 MAE=1.76 Bias=0.53 N=11
Layer 10 R=0.91 RMSE=0.61 MAE=0.45 Bias=-0.3 N=20

GORO001
Layer 1 R=0.79 RMSE=1.39 MAE=1.25 Bias=1.14 N=10
Layer 10 R=0.81 RMSE=0.92 MAE=0.72 Bias=-0.69 N=20
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PR38a
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.58 MAE=0.58 Bias=-0.58 N=1
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DNAO001
Layer 1 R=0.89 RMSE=0.87 MAE=0.78 Bias=0.71 N=9
Layer 10 R=0.46 RMSE=1.16 MAE=1.0 Bias=-0.55 N=18
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PR32
Layer 1 R=-1.0 RMSE=1.69 MAE=1.65 Bias=0.36 N=2
Layer 10 R=1.0 RMSE=0.68 MAE=0.65 Bias=-0.65 N=2
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PR11
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.85 MAE=0.62 Bias=0.62 N=2
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PR35
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.94 MAE=0.93 Bias=-0.93 N=2
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PR36b
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=1.0 RMSE=0.85 MAE=0.8 Bias=-0.8 N=2
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PR37a
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=nan RMSE=0.43 MAE=0.43 Bias=-0.43 N=1
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PR12
Layer 1 R=nan RMSE=2.09 MAE=2.09 Bias=2.09 N=1

Layer 10 R=-0.32 RMSE=1.88 MAE=1.4 Bias=-0.69 N=3
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HCB004
Layer 1 R=0.58 RMSE=2.06 MAE=1.81 Bias=-1.6 N=8
Layer 10 R=0.75 RMSE=1.8 MAE=1.05 Bias=-0.76 N=22
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PR38b
Layer 1 R=nan RMSE=1.16 MAE=1.16 Bias=1.16 N=1
Layer 10 R=1.0 RMSE=0.77 MAE=0.56 Bias=-0.56 N=2

NSQ002
Layer 1 R=0.88 RMSE=0.83 MAE=0.69 Bias=0.35 N=10
Layer 10 R=0.62 RMSE=0.92 MAE=0.77 Bias=-0.16 N=13
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BUDO005
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.75 RMSE=1.03 MAE=0.94 Bias=0.12 N=18
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.85 RMSE=1.78 MAE=1.45 Bias=1.25 N=9
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
Layer 10 R=0.58 RMSE=1.61 MAE=1.48 Bias=0.94 N=19
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Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
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Layer 10 R=0.82 RMSE=0.66 MAE=0.6 Bias=0.37 N=5
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PR122 PR123 PR128 PR132

Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
1.1 1.1 1.1 1.1
al 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
27 . . .
ZI 0.7 0.7 0.7 0.7
© 05 0.5 05 0.5
S 03 0.3 0.3 0.3
0.1 0.1 0.1 0.1
PR136d PR136b SJF002 PR22a
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=0.43 RMSE=0.18 MAE=0.15 Bias=-0.1 N=9 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
1.1 y 1.1 y 1.1 y 1.1 y
TJ')I 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=0.44 RMSE=0.03 MAE=0.03 Bias=0.02 N=10 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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ZI 0.7 0.7 0.7
© 05 0.5 0.5 -
S 03 0.3 0.3
0.1 0.1 0.1
SJF001 SJF000 PR21b ADMO002
Layer 1 R=0.74 RMSE=0.17 MAE=0.15 Bias=-0.1 N=9 Layer 1 R=0.85 RMSE=0.16 MAE=0.13 Bias=-0.12 N=8 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=0.81 RMSE=0.12 MAE=0.11 Bias=-0.06 N=11
1.1 y 1.1 4 1.1 v 1.1 Y
TJ')I 0.9 Layer 10 R=0.6 RMSE=0.05 MAE=0.04 Bias=0.04 N=10 0.9 Layer 10 R=0.62 RMSE=0.04 MAE=0.04 Bias=0.04 N=11 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
27 . . .
ZI 0.7 0.7 0.7 0.7
© 05 - 0.5 0.5 0.5
S o3 ° Wm 0.3 0.3 0.3 °
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PR26 PR20 RSR837 GRG002
Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=0.98 RMSE=0.21 MAE=0.17 Bias=-0.17 N=9 Layer 1 R=0.66 RMSE=0.15 MAE=0.12 Bias=-0.11 N=9
1.1 1.1 1.1 1.1
?J')I 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=0.03 MAE=0.03 Bias=0.03 N=1 0.9 Layer 10 R=1.0 RMSE=0.06 MAE=0.06 Bias=0.06 N=2
27 . . .
ZI 0.7 0.7 0.7 0.7
© 05 0.5 0.5 0.5
S 03 0.3 0.3 0.3 ® ° o
0.1 0.1 0.1 0.1
PTHOO05 PR19 FIDO01 BLLO09
11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
TJ')I 0.9 Layer 10 R=1.0 RMSE=0.05 MAE=0.05 Bias=0.05 N=2 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
27 . . .
ZI 0.7 0.7 0.7 0.7
© 05 05 0.5 0.5
903 0.3 0.3 0.3
0.1 0.1 0.1 0.1
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ADMO001 PR7 PR8 ADMO003

Layer 1 R=0.73 RMSE=0.15 MAE=0.12 Bias=-0.12 N=8 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 Layer 1 R=0.89 RMSE=0.09 MAE=0.07 Bias=-0.03 N=10
1.1 1.1 1.1 1.1
B)I 0.9 Layer 10 R=0.99 RMSE=0.04 MAE=0.04 Bias=0.04 N=4 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=0.99 RMSE=0.03 MAE=0.02 Bias=0.02 N=5
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S o3 0.3 0.3 T — 0.3
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SKG003 PR9 PR5 PR4
11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0
TJ')I 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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PR27 PR10 JSURO1 KSBPO1
11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=0.91 RMSE=0.09 MAE=0.06 Bias=-0.05 N=18 11 Layer 1 R=0.87 RMSE=0.1 MAE=0.08 Bias=-0.05 N=20
TJ')I 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=0.89 RMSE=0.04 MAE=0.03 Bias=-0.03 N=18 0.9 Layer 10 R=0.91 RMSE=0.03 MAE=0.02 Bias=-0.02 N=17
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PR17 PR28 CK200P PSS019
11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=0.88 RMSE=0.12 MAE=0.09 Bias=-0.09 N=17 11 Layer 1 R=0.33 RMSE=0.17 MAE=0.13 Bias=-0.02 N=7
TJ')I 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=0.02 MAE=0.02 Bias=0.02 N=1
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PR16 PR1 SARO003 KSSK02
11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=0.47 RMSE=0.15 MAE=0.1 Bias=0.02 N=8 11 Layer 1 R=0.93 RMSE=0.08 MAE=0.05 Bias=-0.04 N=17
TJ')I 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0 0.9 Layer 10 R=1.0 RMSE=0.03 MAE=0.02 Bias=0.02 N=2 0.9 Layer 10 R=nan RMSE=nan MAE=nan Bias=nan N=0
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PSB003 HCBO010 PR15 LSEPO1

11 Layer 1 R=0.92 RMSE=0.08 MAE=0.06 Bias=-0.04 N=10 11 Layer 1 R=0.89 RMSE=0.09 MAE=0.07 Bias=0.04 N=9 11 Layer 1 R=nan RMSE=nan MAE=nan Bias=nan N=0 11 Layer 1 R=0.9 RMSE=0.1 MAE=0.07 Bias=-0.06 N=16
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